LPR Cup %

Noun 10.502.e01

So what are you saying, physics?
Cooling down of relations between people,
as a result of friction between them.

Stanistaw Jerzy Lec

Uymin’s factor

Point particle hits the inclined plane from the height h without the initial
velocity. Point’s collisions with the plane are absolutely elastic. Coefficient
of friction between the point and the plane is u.

1. During the entire time of movement the point reaches the height
of the first collision three times (including the first one). Find the
angle a between the inclined plane and the horizon in the following
cases:

a) (2,5 points) p = 0;
b) (2,5 points) p > tga.

h
2. Let « be equal to 7/6. Find the displacement of the point particle in time t > \/j in
g
the following cases:

a) (2,5 points) p = 0,5;
b) (2,5 points) p = 0,8.

Note: an absolutely elastic collision with the friction is the collision, in which the component of
the momentum perpendicular to the surface changes to the opposite one during the collision.
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